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var animalArray = [String]() L
if animalArray.isEmpty {

print("animalArray is empty!") "animalArray is empty!\n"
}
animalArray.append("tiger") ["tiger"]
animalArray.append("lion") ["tiger", "lion"]

B 5.1 isEmpty(O) 7 ik = appendO) 7 i%
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A 10 AEAVEU B ARG A e . o FRRE R O e T B F 45 A Al
botanyArrayl Fll botanyArray2, )5, HEHFEAR countO kG I T EDE A
botanyArrayl 1K B (RIS BT & T R A E0 .

var oneBitNumberArray : Array<Int> = [0,1,2,8,4,5,6,7,8,9]
[0,1,2,3,4,5,6,7,8,9]

var botanyArrayl : [String] = ["rosemary", "parsley", "sage’, "thyme"]
["rosemary","parsley", "sage", "thyme"]

var botanyArray2 = ["rosemary", "parsley", "sage", "thyme"]
["rosemary","parsley", "sage","thyme"]

print("There are \(botanyArrayl.count) kinds "There are 4 kinds of botany.\n"

of botany.")
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threeBitNumberArray , 78 7 B i ) v [l B 72 ST 2040 (194K BE Ccount) 4351k 6 1 3, L)
KA TEER I WIE (repeating) 4351k 0 Fl 11,

var twoBitNumberArray = [Int](repeating: @, [0,0,0,0,0,0]
count: 6)
var threeBitNumberArray = [Int](repeating: [11,11,11]

11, count: 3)
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var theAddedNumberArray = twoBitNumberArray + [0,0,0,0,0,0, 11,11, 11]

threeBitNumberArray
animalArray += ["hawk"] ["tiger", "lion", "hawk"]
animalArray += ["sheep","horse"] ["tiger", "lion", "hawk", "sheep", "horse"]
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var theFirstAnimal = animalArray[@] “tiger”

animalArray[1] = "hen" "hen"

animalArrayl[2...4] = ['goat”, "rat", "cock", "rabbit"]
["goat","rat", "cock","rabbit"]

print(animalArray) ‘["tiger", "hen", "goat", "rat", "cock", "rabbit"]\n"
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IR "tiger" 8 H I 5 — N IC R "rabbit", 0] DL H #2298 B J5 I removeFirst O fll
removelastO) , R ZM G420 B ICE, vl LLHH J7 % remove(at: Int), 4 H
AL E B BRS

print(animalArray) "["tiger", "hen", "goat", "rat", "cock", "rabbit"]\n"
animalArray.insert("snake", at: 3) ["tiger", "hen", "goat", "snake", "rat", "cock", "rabbit"]
animalArray.removeFirst() "tiger"

print ( anlma 1Array ) “[”hen", "goat", "Snake", "rat", "Cock“, "rabbit"]\n"
animalArray.removelast() "rabbit"

print(animalArray) "["hen", "goat", "snake", "rat", "cock"]\n"
animalArray.remove(at: 2) "snake"

print(animalArray) "["hen", "goat", "rat", "cock"]\n"
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for animal in animalArray {

print(animal) (4 times)
}
for (index,animal) in

animalArray.enumerated() {
print("No.\(index) animal is \(animal)") (4 times)
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WK 5. 8 Fras. B4 animalArray & H 4 NI E. ¥ & myZoo M {H N A
animal Array () — " B LS NhR 1~2 WA TR . (HZE . myZoo A& —A4-H7 12K
H . myZool 0 JJCHEIF ANAEAE . myZoo H A A 1 — 73 » BRI ZEALE ArraySlice,
myZoo "ITER 1T b FIELZH animal Array WA TG R B9 T AR —2L.

print(animalArray) ‘["hen", "goat", "rat", "cock"I\n"
let myZoo = animalArray[1...2] ["goat", "rat"]

print(myZoo) '["goat", "rat"]\n"

myZoo[1] "goat"

myZoo[2] "rat"

//myZoo[@]
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let newZoo = Array(animalArray[1...2]) ["goat", "rat"]
print(newZoo) "["goat", "rat"]\n"
newZool[@] "goat"
newZoo[1] "rat"
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print ( animalAIray ) "[”hen", “goat”, Ilratll, llcockll]\nll
animalArray.swapAt(2, 3) ["hen", "goat", "cock", "rat"]
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print(animalArray) "["hen", "goat", "cock", "rat"I\n"
animalArray.sort() ["cock", "goat”, "hen", "rat"]
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2 animalArray RS & A FAF 5 "hen" . K R L5 RN true o false,

animalArray[1...3].contains("hen") false
animalArray.contains("hen") true
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A 7 weatherOfSanya fll weatherOfBj,

var weatherOfSanya = Set<String>()
weatherOfSanya = ["rainy","sunny","stormy"]

var weatherOfBj : Set = ["dry","windy","frogy"]
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if weatherOfSanya.isEmpty {
print("The set of weather is empty!")
} else {
print("There are \(weatherOfSanya.count) kinds weather!")

}
weatherOfSanya.insert("cloudy")

B 5.14 444 isEmptyO) e insert() 7 %
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FRIZICR 5 R E N "stormy " . SR G MBRITER "dry" i, i T4 4 weatherOfSanya
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weatherOfSanya.remove("stormy")
weatherOfSanya.remove("dry")
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if weatherOfSanya.contains("sunny") {
print("Sanya is sunny sometimes.")

}
B{516 &£4Phiadart

ik for-in ¥R AT LG4 & BEAT I8 17 . AN &T 5. 17 Fra .

for weather in weatherOfSanya {
print("\(weather)")
i

B 517 HZb&6mm



Swi
Wiftsrinzimsa

5.2.6 &&HF

FEAPRITR R AR . ISR A Fr i AR T R L AT LG AT sorted O pR%L
XHES BT R I R E S HE R O J5 #ida o 181 5. 18 4TED T4 5 8 i weatherOfSanya
HEFP 5 9 45

print("the result of unsorted : ")

for weather in weatherOfSanya {
print("\(weather)")

}
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var weatherOfSanya = Set<String>()
weatherOfSanya = ["rainy","sunny","stormy"]

var weatherOfBj : Set = ["dry","windy","frogy", "sunny"]
weatherOfBj.intersection(weatherOfSanya)
weatherOfBj.union(weatherOfSanya)
weatherOfBj.subtracting(weatherOfSanya)

weatherOfBj.subtract(weatherOfSanya)
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var ascIIDictChar = Dictionary<Int, Character>()
var ascIIDictNum = [Int:Int]()
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